1. (a) | State two climatic conditions favouring coffee growing in the Kenya
highlands. o& - b ((k:cp A,
*3‘ - High rainfall/ 10(29»2000mm. ut—the_ymr Y an V\éﬂvu 1
aY,
»Kv - Moderats!taemlacrature/ 14- 3(1?
d\}q" — Shelter from direct sunhght /
QO - Requlr::} 0 mon eriod f wermg 2
7w W aven H" Conc °m ~ Any2x 1=
3 - ’Finff fiee Condx w’v
(b) Give three problems facing coffeg/farming in Kenya
P&("K gSgaé.’z - Inacizt:ate/unreha le rainfall/drought lowers quality.
— : e gei”{'i . Pest, Bisease destroy the crop.
Lecf\ MY L 2€ el Soil exhaustion due to ocultur;
| Prse
‘-”f}j X Yff - Poor transport networ, j o‘fm’ Yoq C
AV f—"h(‘{‘ ) /] @’t 22 w& High cost of farm inputs/inadequate cap1tal
2 . .
MZ"W 1 ke s C\’},&\,{\AX - Q}"smanagement of coffee co<operatives r.ldOH &« / ?hﬂe-ei—(
\-(O'*‘b:'l “ w\ko\ﬁ 0 Fluctuation of coffee pnce‘/ in the world arkct

SECTION A

1/

G

2 marks

D Competition from o \/her crops / Gﬂj

dred

T ey U O
2)*? ((1 bt 4 i{jﬁa - Delayed payments to farmers e ’ -5
"\d\of’{‘-‘ﬁe g{, /q‘{ov .1\/ unt V\C‘ L\‘*Nerh’?fﬂ:y 3x1=|3 marks
2. (a) What is'land reclamation?
- Land reclamation is the proéess in which unproductive land is
converted into useful landfor crop/livestock farmm%/ ¢ @ﬂed 2 marks

State three physical factors that mﬂuenced the location of Perkerra
irrigation Scheme

Presence of soils rich in mineral nu él‘ﬁﬂj / (oc »ﬁ d 617«

Availability of large tracks of land}

- Availability of water from ver @
= Presence of gentle slop g lan V\\J
- Inadequate rainfall J»Q'Y“- GVIC Co nca%uh
Any 3 x 1= |3 marks
| oy P = _—
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S \ 3. (@) leferentlate between game reserves and national parks.

|
Game reserves are areas set aside for wildlife with limited human

U ]
activities, - whil natlonal parks
HheforcA 6 A

are areas set aside for wild]iﬁfﬁ({ﬁére%uman activities are prohibited

and are managed by central government.
(b) | Give three significance of tourism to Sw‘ijﬂand {f I’Dm 6'{' oc (incar \(C(;AC"“
- The industry offers job opportum'tiei/' b"f —€V‘ Viyonmie V\M b ‘,“-(-aj.

- The country earns foreign exchange
- Eamings from téurism promote development of other sectors of

economy | /9 Jta j@i | @

\9\ It facilitates economicat u‘?{f unproductive areas
h

i
{,‘J\ - The country earns revenu¢ throu htaxauon/
/\//je@( r[ 'Qm,:r}d €c Jﬁz’ef)v.d};\, ot \SV\AF‘A'/GC( cma(z 3

r
) L)KLMQP{ TYaunun g ot r(Kh’@@WC" in nurf} i \‘—}/
4. (a) Apart from railway transport, name two other means of transport. J

N

2 marks

T

- Road transport
- W:it?: transport
- Air transport

- Pipeli?ransport
- Humar/animal transport

Any 2 x 1= 2 marks

(b) | Outline three advantages of railway transport d/
It is convenient for transporting variety of goo

- It is used to carry bulky/heﬁy goods/ ( eﬂe
It is more efficien due to ﬁxed time schédule/no traffic Jams '

- The trains are less prone to accidents @

1t has low maintenance cost/cheap mc:}e’of transport

The railway line uses little/land space

- Elccgrtrains are faster
- Itis affected by weather changes

Any3x1= 3 marks

@ 2022 The Kenya National Examinations Council Tarn over
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5. (a)

Tdentify the two ggpes of internal trade.

Whole gale‘trade
Retail trade

2 marks

(b) | State three economic b efits of the European Union to member countries.

Removal of tariffs/duties

There is fre¢’movement of peoplé/goods/services among member states

Integration/coopergtion among member states /dwif'f

Provision of loans/grants to the member states through European

Investment Bank/European Zentral Bank

There is expansion of trade/market among member states

Creation of a common currepcy/Euro making trapsactiongeasy.

< "
..’(7,\6{‘:){“&4&’7*13&«1@ ~ A\jwa areVamey

embe

— 'T(f«zYzc ?, CVGC}(O“ S eV rD\(aS anld NG
0% | i

3 x1 (3 marks

&

mMenbef slatec
SECTION B

5

Study the photography provided, and answer questions (a)

(a) (i) Identify the type of photo?h shown above

— Ground general view

(ii) What time 6f the day was the above photograph taken?

Aftemoon/m-%in '-,L;‘)\\/\/i'ﬂwtrﬂc(m J/
Qopm = 1159 aom

7 |

(iii) Draw a rectangle measuring 15cm by 10cm. On it sketch and

label the features shown on the photograph

(1 mark)

(1 mark)

@ 2022 The Kenya National Examinations Council
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KEY

Stagnant water Grass Rectangle =1 mark4 ( 6 marks)
Im Poles/fence House -?;Z,ls l?:"’:;f;: 1=5marks

@ Trees

I__;J Dry land

e o o
ﬁcﬂ' w2 .
fedege L = [
o
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(b)

(i) List three
- RiverYala
- River Nyando\/

- River Nzoia\/
- River Kuja/
- River Tana/

- River Ewaso Nyjr ‘/

ﬁu vev Jonc(’ Mdv »\‘/

r\i7ers in Kenya which cause large scale flooding

&

—

Any3x1

3 marks

a CCf(l ‘ﬁff Yj)’fdg/(

(ii) Explain four effects of flooding in Kenya, -

. . gh LG
- Flooding czi?s water logging/o csmls.llence lowering crop

- Flooding creates stagnant water that causes disease

production.

AN

weaken people/cause death

N

.- Floods d7 (jt)y traniport/commumcatlou networks hence ’}(

rivers/lakes/dams/reservoirs caused by ﬂoo:;?g\/
e habe

o nurtes ‘//{mu( Any4x2

ence Yd

-

fread

depcfe

Explain thrcc ways throu

wh1ch floods can be controlled in Kenya

Planting of vegetation along the }ilver banks/river catchment areas

in order to reduce surface run off/increase seepage

! a“”"'éi‘

(Mo& qve «LM%J%Q—
ﬁ\/ ajﬂcuﬂ\l{e\(/
4 @e rrcte

e
foocls (ecgwwj S{OM\O

A< [«
hindering/moveme 1,’)eople/ oods/services LL(< \)’W
\?\/6 s WP ({f Ccﬂ'{ 17 \/

,ﬁloodl g leadst loss of property/life-making1§ J( A/N(
—_ €6w ’f‘D ( G5 Cﬁ (/({e
- Floods disrupty the farmers calendar/destroy crops causing /;6 ﬁde Y

food shortages/famine / (:ch? < p &F(e
- Flooding displaces/leaves people homeless leading to

destruction of human settlement '
- A lot/of money is used for dredging silt deposits in , ‘

S

@ 2022 The Kenya National Examinations Council
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Lo A

- Construction of dykes/embankments to restrict the overflow of
rivers

- Regular dre g/cleanmg the ama ystem in order to ease the-
%uu:w c? e g e w g’/e‘t[t oy wq&bf

- Constructio g[ «/z /canals/wat\c;pans/water reservoirs to reduce

Y3 &
the velocity, f nve {jb nstreamV &

- Realigning 1verm al nable quick flow

of water ﬂP \/ Cgf 4 l’ s 1

é,n YMJ( A (‘M\'\ f & ¥ ’l\% Any 3x2 | 6 marks

vells

wpden
A ndg){tl)
Yot gway &F ?X(eJI )

7(a) | () Name two main horticultural crops that are \own in
- Flowers — 0584 (C\Mcmil b 12 fy (l)L«\lL ]

- Fruits \/ — Dyaus jLP'Y!cVu fawg “L‘M{S 7 W k2] A C“:G‘C/)D‘(’ aermelbn
ST ’(’,aae um
- Vegetables V-— Ommj Cqu(Z Dwmvu, Cct[o‘oc'c 2, (@/(ejlrf'/YﬁﬂcA L)e:om/
bﬁ/b(&d\k{}\f f)t'\ ‘{ Any 2 x 1= |2 marks
cO\OL2L ('2‘

TD w-Y \”*’1""6

(if) Why is horticultural produce mainly ex;&osed by air?
— Horticultural crops are highly perishable
— They are in high demand hence require urgent supply/
— Some crops are light in weighfés suitable for export by
air
— They are highly priced hence can compensate for cost of

air transport \/

— Most of the markets are located in far countries.

3

Any3x 1 3 marks

(b) | Give four reasons why flowers are mostly grown in green houses in

Kenya /
- In order to protect flowers from excessive rainfall/strong wind/hail

stones
- To enable plants to be wajered constantly

- In order to control pest Ané-diseases easily

- To enable plants enjoy controlled/optimum moisture/temperatures

@ 2022 The Kenya National Examinations Council
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V4

To allow flowers to be grown throughout the year ¥

- In order to control weeds casily

Any4x1=

4 marks

Explain the contribution of horticulture to \/hc cconomy of Kenya

— Horticulture has offered e ploymcnt opportunitics to many people
/ the farmers earn incom?/fzom sale of produce hence raising their
living standards\/&/ 2 \/o

— It has provided raw malj{gals to agro-based industries thus
promoting their growth/diversifying t c cconomy

— It eamns the country foreign exchange whlch 1s used to develop
other sectors of economy l/b

— Ithas led to the expansigh and development of transport thus
improving accessibility to many areas

— It eans the government revenué t£h/rough es/llcenses which is
used o develop the coun f‘

rj_(*'; MHave | ‘(/Decp %f/’ﬂcr)m ‘Q/ Nwm?“/
ff*n,rww:(aw o iz
l‘t Fear irceas o mlq < hence prom@id !%“L,F

MC( "\ence

8 marks
cecurﬁtf. /,e

(d)

Describe the differences betwéen Thorticulture farming in Kenya an
Netherlands

— In Netherlands, there is more advanced technology used to enhance /

horticulture while in Kenya the technology is low

— In Netherlands there is well developed transport system which
facilitates movement of homcultural produce while in Kenya
transport networks are net-weﬂ-devclopcd /

= In Netherlands there is hl ghly skilled manpower while in Kenya
there is low sk_illgd man[;owcr, // '

= In Netherlands farmers have more access to capital while in Kenya

JC(GJ%Q;}ﬁ%&éT'

Man 39 \
R R BTN

Lesc

they have limited access to capital v

@ 2022 The K enya National Examinations Council

3122 MS

Scanned with CamScanner



Isaac


Isaac



Bt

N~

Netherlands has well organized marketing stralegles while in

Kenya marketing is poorly coordinated /
i el

In Netherlands horticulture farming enjoys more advanced research

while in Kenya research in horticulture is low. \\//
Netherlands horticultural crops are in high demand both \lo/cﬂl)’ and ’15 )
/ .

internationally while in Kenya the local demand is low.
‘ Any 4 x 2 | 8 marks

8. | Define the term energy?

(a) Energy is the power/fuel needed to run a machine/assist people in

production.

2(marks)

®) [ @)

Apart from water, list three other renewable sources of en?gy

which are exploited in Kenya

- NE Eneest

— Solar’s

- SteariJg:;)‘thermal steam

— Biomass/Bi

~ Wood fuel */7ees 2

= j’awykf QMH,)CJ_(\/ Any 3 x 1= | 3 marks

7 12

| G UC
/5/

(ii) Explain four physical factors that favoured the development of the

Seven Forks hydro-electric power projects. M u _\’(’ W\Gi*%l ® W
— Presence of large volume of water from River Tz:?/dnfg its :
tributaries to provide water to drive the turbines> < Q "T‘l"’\‘*__
|

— Regular/constant flow of Rj¥er Tana! w/gmh enabled continuous
production of electricity

— Presence of hard basement ro:}/along the site which provided a
firm foundation for the dams

— Availability of enough spacé t{)i construction of
dams/‘gservoirs due to low population in the area.

— Presences of watcrfalls/fépids/stccp gradient which provided

sufficient hydraulic forcé/ to turn the turbines

@ 2022 The Kenya National Examinations Council Turn over
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/% /e

b
. N 4.
Presence of impervious rock which prevents seepage of water

underground _
— Presenceof a gorge/:i7ep valley which reduced the cost in

. (") s %
construction of dam. '{'c ¥ ‘qj

I

Any 4 x2= -8-marks

Give four disadvantages of us ing goal
© AN

al

Jor
Coal is black/dusty/,

It produces smoke which pollutes the environment
It is exhaustible / |\}DM/ !MM’LM@

It leads to environmental degradation/large open pits are left

behind. /
It is bulky to transpcyd J ;WC“C, Juie:
It produces low/heat/energy value Low Calo

It is expensive to mine‘/

okc-whieh-1s-a-health-hazard

2l oachve

6 .

» \\o

_ Tate of economic growth

-__j\nr_ir:uc ‘k»/éf{- ( PZE{@._\ (—Quc(\.\ fb MB >, of?é\amcr ’J- LY

Increase in fuel prices leads to increased cost of transport !
triggers price increase in all commodities‘./s'?’ (Wf (( { OV‘( Yo
High cost of fuels inci/ises the cost of production G’:%Se slowing
down industrial growth/low consumption of goog%lay off workers/ '
Oil crisis leads to scarcity of by prod gts of oif{eading to shortage
of raw materials for certain industries/hi ices of by products
Increase in oil prices lead to a rise hﬁg(n%h%u{ﬁich in turn

leads to low agricultural productiox%/food shortages

Any4x1 4 marks
d) Explain four effects of energy crisis in Kenya. \/ Z{'
whichy o Lt

Increase in oil/pﬂcesl/ead to high cost of, ?oods thus lowering their ) A
e

2 T ncrease ‘.’m,*g

consumption

Tley ha
c ey/etzaiyag:,b% f(’{’(ﬂc‘,&;‘f‘/zg e D;r/
Increase in crude oiﬁ)ﬁggﬁﬁ)wérs e orelgnc ‘ﬁb%nc(})l Y St He e &F

) . £
which brings about unfavourable balance of trade/slows down the

(o

3

&

ok

]b((m’é’ A MCY.W"% Wiker:

o7 Ve

H (4] o) r r‘fv\d

h; -Q‘FQYG( f?- O~/ i

N ( =
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312/2 M8

/'
= /Lm(‘?@t o ol pate has, An a{) Dot A

N g7 0‘('—{ Ve \_\\/‘f .
Q:F ol o eae T '\MPC’C{\/ec’f energ e Cr&?f- EPf’dj‘b ‘%E J

Scanned with CamScanner



Any 4x2= | 8 marks

9.(a) [ (i) Apart from motor vehicle assembly, name three other non-

agricultural manufacturing industries in Kenya

— Oil refinery /

— Cement factories

- \/Pulp d paper
/& /étee‘ﬁ{ U :ML1r\d

rolling mills

— Glass making / Jq‘( (CeYCuWK— { Wo(u(ﬁf

'.ﬁ’{ 'C man ﬁq _ | 3-rmarks
fPl/\ !h/\&l‘t’j}’(‘(‘_ ijfﬁ, Any3x1

Use the map of Kenya below to answer question a(ii)

Equator

@ 2022 The Kenya National Examinations Council
312/2 MS
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(fi) Name the towns marked X, y and z where motor — vehicles are

assembled;/
X — Thika

/

Y — Nairobi
Z - Mombasa -%

3 marks

(b)

Explain how the following factors influence the location of industries
(i) Transport and communication
— Well developed transport n: k facilitates transporting of
raw materials to the mdustn\Z\Zi[mshed prodUCts to the market

—  Well developed transport,and communication networks attract
more industrial investors lZnan area

— Areas with poorly developéd transport and communication

networks discourage setting up of industries

— Industries depend ()]good communication network to keep in

touch with custome s‘ésupphers 4 Qj;v ol jf,dwef

'MI“?'-

Gt/

maximum output at low production cost
— Industries that require personnel Wh?j7e semi-skilled are
—
located in areas with high population
— Industries requiring highly skilled labour force.tend to be

located irymajor towns where there is adequate skilled

)

écé \réx[&c (alouv a(lj(c.u
/ nn&qhﬁw barigg, 7,

personne

— AYeas .«rr{f\
éujzfch

121 'Of)

trammg facilities.
ey e
( Vlo{l Y1¢

?

qQqe

4 marks

WJ[[/

@ 2022 The Kenya National Examinations Council
312/2 MS
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(ii) Labour
— Industries that req tensive labour are located in areas that
are highly populat lated>{({: equate supply of needed labour ——‘f’(\' < "{'e\ o
— Industries require personnel with managerial skills to ensure ?’? k
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()

esta

—

— To improve transport/communication network

State three reasons why the govemment of Kenya encourages
s\(pcning up the

»éiucc over rcliance on agriculture.

blishment of industries in the rural arcas.

rural areas

To diversify the econom

To create employment opportunities in rural arcas/reduce rural-

urban migration

To improve/set up social amenities in the rural areas

—

To enable people in the rural areas sell their products/raw materia”

to the industries

To make use of the locally available raw materials

— ] e C
(D aﬂ‘.»jelt rﬂo\.jy\ AT ing
(2 2 = J cp s/ ed"/ y
— Luﬂ&,&(.. r?j(on 2 vk a;Fm

V4

Aﬂy3 x 1= 3 marks

\

\
© ‘Q\ i

C)

Vs

Explain four problems of industrialization,in Kenya

Some indus 7tries lead to displacement ogpeople disrupting their

[

economic/social life
VA

Some industries emit gase$ that are toxic causing harm to

human/animals

(2
population hence shortage of houses/congestion/increase in crime

rate

Uncontrolled disposal/dumping of industrial wastes l¢ading to land

degradation /gk (JukTon

Industrial wastes/effluents pollute water sources making it unfit for

human/anima:jg’nsumption
Fumes emitted b

destroying them

of infrastructure/social services in the industrial

2
8, :
Industrialization leads to rural-urban migration increasing urban

( . : .
y chemical industries corrode metallic roofs hence

¢
There is imbalance in economic development due to co'ryntmtion

Y

L2

f

centres. (,

@ 2022 The Kenya National Examinations Council
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joulturc sector Jeading to

_ Industrialization may cause neglect ot\'jgr :
. 2
shortage of food/importation of food e

Any4x2

10.
(@

State three reasons why it is necessary for a country to carry out

population census.

— Tohelp in tlle:/distdbutio \4résources "
/[76(4‘(—/ aking

—  For planning purposes
— To help in creating administ:?ive units/boundaries

— To identify the rates of birth death
o

- To help in estimating population growth. e
— (o evivune  Astal nuwber J;f’ T Any3x1=

3 marks

(b)

Explain economic factors that influence population distribution in East

Africa
— InEast Africa people tend to migrate from rural areas to urban

centres to jk employment leading to an increase in urban
populatior/low population in rural areas
Areas where industries arWa\téd have dense population since

eek employment/offer services

many people are employe

Areas that are Werved with good transport network attract
areas with poor transport network have sparse

dense populati

population mé
Mining activities attract people looking for jobs/trade leading to
dense population/displace people affecting the population

distribution.

Any 3 x 2=

6 marks

(©

(i) Outline four measures that have been taken by the government of

Kenya to reduce infant mortality rate

@ 2022 The Kenya National Examinations Council
312/2 MS
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IMu«’a:rnq

/’ vl

- Improvinq medical facilities, Enhancin g immunization ¥

programmes for children to control diseases

N

Educlating/creating awareness oixjxetter caro®f the children
Granting longer maternity leave for mothers/paternity leave

Encouraging use of family plannmg techmques/manageable

E\/}ccv\vgje P of homey

Ox {j/\an( 4
— Carrying out research on infant related diseases

families

"EA\

Encouragmg parents to feed their children on balanced diet. /1

=2 rpeclical seryitec @ o 1

(u J\c ’\
(ocu‘rrc el mn:l N IY e

Vau nivne

/Ja

’]/(-e‘/ Vv

=
'l

4 marks

Aty

(11) State four effects of high agemg\yf»pu?)on in a country
e

a
— Increased cost of health,as the aged are more prone to illnesses

— Increased dependency'ratio

— Shortage of labour force
— Slow economic growth/low revenue collection
— Under utilizatiog))f:ocial amenitics

— Inadequatc local market for goods.

Anydx1=
ny z

4 marks
B

(d)

Explain four cduses of urban-rural migration in Kenya
(52
— Insecurity/high crime rate in urban centrg Chas led to some people

¥
moving to rural arcas which are sccure / Safev

)//
People move from urban cem\rc/sxé seck for employmerit in the

e
industries located in rural ar‘cafounty governments/job transfer

o
hort f housing facilitie urban centres has made some
Shorags.f housin (65 \
people move to the suburbs/small townéwherc there i?puscs
% xl&ﬁg

the rural areas R

Some people move to the rural areas after retirem ir

Some people move from urban cen s to

Yedouvceg ave MmeapeX
Pollution refated diseases nﬁ;rban centres have made some people  /

move to rural areas. wb\e‘/"« Areve & le< /fz“ i
make people to move to rural

= Anyd4x2=

High cost of living in urban centres

S e

{e(e

4

8 marks

areas where the cost of hvmg is low.

Turn over

5
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